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Eight persons - A, B, C, D, E, F, G and H 

live in a building of 4 floors and 2 flats -

Flat 1 and Flat 2. Flat 1 is to the west of 

Flat 2 and Flat 1 of Floor 1 is immediately 

below Flat 1 of Floor 2 and Flat 2 of Floor 

1 is immediately below Flat 2 of Floor 2 

and so on. There are two floors between B 

and C. B lives above C and they live in 

different flats. A lives west of D but on 

the odd number of floor. F lives 

immediately above C. No person lives 

west of G who lives on the fourth floor. H 

does not live on floor number one.

आठ व्यक्ति - A, B, C, D, E, F, G और H

4 मकं्तिलों और 2 फ्लैटों की एक इमारत में रहते 

हैं - फ्लैट 1 फ्लैट 2 के पक्तिम में ह ैऔर मकं्तिल 

1 का फ्लैट 1 मकं्तिल 2 के फ्लैट 1 के ठीक नीच े

ह ैऔर तल 1 का फ़्लैट 2, तल 2 के फ़्लैट 2 के 

ठीक नीच ेह ैऔर इसी तरह आगे भी। B और C 

के मध्य दो तल हैं। B, C के ऊपर रहता ह ैऔर 

वे क्तवक्तभन्न फ्लैटों में रहते हैं। A, D के पक्तिम में

रहता ह ैलेक्तकन क्तवषम संख्या में मकं्तिल पर रहता 

ह।ै F, C के ठीक ऊपर रहता ह ै। कोई भी व्यक्ति 

G के पक्तिम में नहीं रहता ह ैिो चौथी मकं्तिल पर

रहता ह।ै H मकं्तिल नंबर एक पर नहीं रहता ह ै।



IBPS / BANK / LIC ADO 2023 at 9:00 AM

Eight persons - A, B, C, D, E, F, G and H live in a 
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Nine persons are living in a building on 9 

different floors, in such a way ground 

floor is numbered as 1 and top floor is 

numbered as 9. E lives on an odd number 

floor above the floor number 5. There are 

two persons live between E and G. B lives 

on odd number floor but not immediate 

above and immediate below G. There are 

as many persons live between G and F as 

live between G and K. F lives below G. H 

live on ground floor. There is one person 

lives between C and E. D does not live on 

an even number floor. A lives on even 

numbered floor but above on 2nd floor. C

lives below E. 

नौ व्यक्ति एक इमारत की नौ क्तिक्तिन्न मंक्तिलों पर इस 

प्रकार रहते हैं क्तक िूतल की संख्या 1 और शीर्ष मंक्तिल 

की संख्या 9 है। E, मंक्तिल संख्या 5 के ऊपर एक 

क्तिर्म संख्या िाली मंक्तिल पर रहता है। E और G के 

मध्य दो व्यक्ति रहते हैं। B क्तिर्म संख्या मंक्तिल पर 

रहता है लेक्तकन G के ठीक ऊपर और ठीक नीचे नहीं 

रहता है। G और F के मध्य क्तितनी संख्या में व्यक्ति 

रहते हैं उतनी ही संख्या में व्यक्ति G और K के मध्य 

रहते हैं। F, G के नीचे रहता है। H िूतल पर रहता है। C 

और E के मध्य केिल एक व्यक्ति रहता है। D सम 

संख्या िाली मंक्तिल पर नहीं रहता है। A दूसरी मंक्तिल 

से ऊपर एक सम संख्या िाली मंक्तिल पर रहता है। C, 

E के नीचे रहता है। 
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Eight persons lives in a building having four 

floors where ground floor is numbered as 1, the 

floor just above it is numbered as 2 and so on 

till the topmost floor which is numbered as 4. 

Each floor is having two flats i.e., Flat-A and 

flat-B. Flat-A of floor-2 is exactly above the 

flat-A of floor-1 and exactly below the flat-A of 

floor-3 and so on. Flat-B is in east of flat-A.

No one lives below P. Only two floors gap is 

there between P and J. P and J lives on different 

flats. M lives exactly towards the east of N. R 

lives immediately below N. R and N lives on 

same flat. D lives above O and below K. K lives 

on flat-A.

आठ व्यक्ति चार मंक्तिलों वाली एक इमारत में रहते हैं िहााँ 

सबसे क्तनचली मंक्तिल की संख्या 1 ह,ै उसके ठीक ऊपर वाली 

मंक्तिल की संख्या 2 ह ैऔर इसी क्रम में आगे बढ़ते हुए सबसे 

क्तनचली मंक्तिल की संख्या 4 ह।ै प्रत्येक मंक्तिल में दो फ़्लैट, 

अथाात फ़्लैट-A और फ्लैट-B हैं। मंक्तिल-2 का फ्लैट-A, 

मंक्तिल-1 के फ्लैट-A के ठीक ऊपर ह ैऔर मंक्तिल-3 के 

फ्लैट-A के ठेक नीचे ह।ै फ्लैट-B, फ्लैट-A के पवूा में ह।ै

P से नीचे कोई नहीं रहता ह।ै P और J के बीच में केवल दो 

मंक्तिलों का अतंर ह।ै P और J अलग-अलग फ्लैटों पर रहता 

ह।ै M, N के ठीक पवूा में रहता ह।ै R, N के ठीक नीचे रहता 

ह।ै R और N एक ही फ्लैट में रहते ह।ै D, O से ऊपर और K 

से नीचे रहता ह।ै K फ्लैट-A में रहता ह।ै
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Six persons A, B, C, D, E and F live in a three-storey

building such that ground floor is numbered as 1, 

above it is floor 2 then topmost floor is numbered as 3. 

Each of the floor has 2 flats in it as flat-1 and flat-2. 

Flat-1 of floor-2 is immediately above flat-1 of floor-1 

and immediately below flat-1 of floor-3 and so on. In 

the same way flat-2 of floor-2 is immediately above 

flat-2 of floor-1 and immediately below flat-2 of floor-

3 and so on. Flat1 is in west of flat-2. Each of them 

likes different fruits. One floor gap between C and the 

one who likes Grapes in the same flat number. A lives 

on an even number floor in the north west of C. The 

one who likes apricot lives below A. The one who 

likes banana lives above C and in the south-east of D, 

who does not like Apple. F likes Apricot. D and A not 

like orange. E lives below B. One of the persons like 

coconut

छह व्यक्ति A, B, C, D, E और F एक तीन मंक्तिला इमारत में इस 

प्रकार रहत ेहैं क्तक भतूल की संख्या 1 ह,ै इसके ऊपर की मंक्तिल की 

संख्या 2 ह ैक्तिर सबसे ऊपर की मंक्तिल की संख्या 3 ह।ै प्रत्येक 

मंक्तिल में 2 फ्लैट हैं यह फ्लैट-1 और फ्लैट-2 के रूप में ह।ै तल-2 

का फ्लैट-1, तल-1 के फ्लैट-1 के ठीक ऊपर ह ैऔर तल-3 के 

फ्लैट-1 के ठीक नीच ेह ैऔर इसी प्रकार आगे भी। इसी प्रकार तल-

2 का फ्लैट-2, तल-1 के फ्लैट-2 के ठीक ऊपर और तल-3 के 

फ्लैट-2 के ठीक नीच ेह ैऔर इसी तरह। फ्लैट 1, फ्लैट-2 के पक्तिम 

में ह।ै उनमें से प्रत्येक को अलग-अलग िल पसंद हैं। समान फ्लैट 

संख्या में C और अगंरू पसंद करने वाले के बीच एक मंक्तिल का 

अतंर ह।ै A, C के उत्तर पक्तिम में एक सम संख्या वाली मंक्तिल पर 

रहता ह।ै वह व्यक्ति क्तिसे खबुानी पसंद ह ैवह A के नीच ेरहता ह।ै 

वह व्यक्ति क्तिसे केला पसंद ह ैवह C के ऊपर और D के दक्तिण-

पवूा में रहता ह,ै क्तिसे सेब पसंद नहीं ह।ै F को खबुानी पसंद ह।ै D 

और A को संतरा पसंद नहीं ह।ै E, B के नीच ेरहता ह।ै व्यक्तियों में 

से एक को नाररयल पसंद है
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